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MAHARASHTRA STATE BOARD OF VOCATIONAL EXAMINATION, MUMBAI
EXAMINATION — JANUARY 2013
CERTIFICATE COURSE IN LATHEAZHINE OPERATOR ( 303137)
TIME ALLOWED - 3 Hrs.

MARKS - 100
SUBJECT — TURNER THEORY (TH-I)

Instruction :-1) Solve any five questions but Q.Nis compulsory.
2) All questions carry equarks.

Q.1. A]Fillin the blanks.
. Centre head in headstock of a lathe is calle¢—-------
. Cutting speed is measured in------------ per nenu
. Standard taper used on drill is called--------
. Cutting angle of an ordinary twist drill is-—-
. Least count of metric micrometer is---------
. Thread angle of an Acme thread is----------
. The half nut is used for------ on lathe machine.
. Mandrel is used for holding--------- :
. Self centering chuck has----Jaws.
10. Carbide tipped tools are resharpened on-gfinding wheels.
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B] State true or false. If false, Correct the staat .

1. Lead screw is not required for threading openati

2. Lathe bed is made of mild steel.

3.Number of teeth per inch is generally 50 to 68ead smooth files

4. The flash point of good lubricant should be low.

5. Stellite is an alloy of chromium, tungston & aaium.

6. Tailstock can also be adjusted vertically oriatie lathe.

7.A hand reamer has left hand helix angle teeth.

8. Gear drives are positive drives.

9. In lathe tool, negative rake angle is used &avy material
removal.

10. Taper turning by set over method is suitabtédming small

taper on the long job.



Q.2. A] How lathe are specified? Give specificatadriathe you have
used.
B] State the effect if a lathe tool is grindedtwit
1. Excess front and side clearance
2. Less front and side clearance
3. Positive rake angle
4. Negative rake angle

Q.3. A] Explain the term cutting speed, feed, deyftbut, speed and
machining time
B] State the factors on which cutting speed depends

Q.4. A] Draw a neat sketch of a drill bit. Namepets. State function of
various angles.
B] What properties should a cutting tool possess?
What are different cutting tool material?

Q.5. A] List and explain common lathe operations.
B] List the type of coolants that could be usedathe.

Q.6. A] Draw a neat sketch of vernier caliper. Natagarts.
B] How least count of micrometer is calculated? [Bxpwith an
example.

Q.7. A] Calculate the turning time per cut for 120 workpiece. The
chuck rotates at 250 rpm. Feed of the tookrgeolution is 0.09 cm
B] Write short note on any two of following.
1. Self centering chuck
2. Steady rest
3. Face plate
4.Lubricants
5.Coolant
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